NUMBER SYSTEM | PART-7

SSC,CDS

300 written as a recurring decimal is —

1 - . e .
200 AT SIS & 9 ° foran s §—
(A) 0.03
(€) 0.0003

The recurring decimal representation
1.272727.... is equivalent to —

ST T T 1.272727...... (REEE TRgeA € 2

[UPSC 2020]

13 14
T B) 77

127 137
© 5o (D) 59
0.0009 is equal to —
0.0000 1 917 fHess auat § —
A —1 B 2
(A 1232 (B) 5999

1 7

© 1117 ®) 5999

Represent 2 352in the form of E —

2,363 H ¢ e ¥ el —

2127 2117
(&) 900 (B) 900
A 2107 D 2217
(©) 900 (D) 900
Arrange in descending order —
Frafafem = w2t guma § =afen =3 —

0.9, 0.9,0.09,0.009

(A) 09> 0.9> 0.09>0.09

(B) 0.09> 09 > 0.9>009
(€) 0.09> 0.09 >0.9>009
(D) 09> 0.09 > 0.09> 0.9

6.

10.

11.

Find the value of 74 + 7.32 —

6.74 +7.32 T T A —

(A) 14.06 (B) 14.07

(€) 13.06 (D) 13.07

Find the valueof 0713 —

2.7 1.3 W AF F@s —

(A) 1.2 (B) 1.4

(€) 1.7 (D) 1.9

The value of xin the below equation is —

fe&r 78 g H o w HE 9| W —
[SSC CPO 2016]

0.3+06+07+08 =X
)

(4) 53 (B) 235
2 3
© 23 (D) 275

The value of 11 4 + 22.567 — 33.50-

114 + 22.567 - 33.50 1A el —
[SSC_2020 Mains]

(B) 412

(D) 0.0412

(A) 4012
(€) 0.412

The value of p 46 + 0.723 — 0.39 X 0.7 -

0.46 + 0.723 - 0.39 X 0.7 T A A —
[SSC_2020 Mains]

(B) 0.77
(D) 097

(A) 0.46

(€) 0.57

. . ) 1.3x1.3x1
The simplification of — = =
1.3x1.3x1.3+

13%x13x1.3-1

i Fl | ] —
1.3x1.3x1.3+1
(4) = (B) 1=
3 3
37 27
(<€) 91 (D) 91
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Mother's * Number System (Part-4)

12,

13.

14.

15.

16.

17.

18.

_p 4 L1100

2.142= thenp+q=? A) 5479
b 1897

2.142= aﬂﬁp+q-‘m"rﬂﬁwaﬁ ? ©) 3765

(A) 1067 (B) 1038

(C) 1077 (D) 1037

_ _ 5
0.ab+0.ha= g thena+b=?

_ _ B (A) 0.494
0.ab+0.ba= g T atbh=7? (©) 0.458
(A) 5 B)6
Q7 (D)8

— 7 . .
If O.Xy=ﬁ,fmdx“)+y3=?

o= T ”
mO.xy:H,Wx—’+y—’=?

(A) 36 (B) 44
(C) 45 (D) 55

— — 13
If 0.xyz+0.519= Ethen 2x+ 3y —-5z=72

=fg O.xy_z+0.552%ﬂﬁl 2x +3y—5z="7

(A) - 18 (B)- 19

(C) - 20 (D) Not
0.56-0.723+0.39x0.7=?

(A) 0154 (B) 0.154

(C) 0.158 (D) 0.158

Find the value of 0,47 +0.503-0.39x 08—
0.47 + 0.503 — 0.39 x 0.8 I 71 F3H —

(A) 0615 (B) 0.615

(C) 0.625 (D) 0.625

IfN=0.369369369 ............
M = 0.531531531 ............. then what is the
1 1

alue —+— —
\-’U.E‘N

=fs N =0.369369369 ............

1
M =0.531531531 .ceevenn..... —s—,zﬁ—+ﬁmnﬁaﬁ
= —

111

(B) o0

100

2419
11100

19. The value of 057 — 0.432 + 0.35 is:
057 — 0.432 + 0.35 I HMH I HI —

[CGL Mains 2019]
(B) 0.498
(D) 0.494
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Solution

1. (B) 10. (A)
_ == - 3 1 4
2. (B) 1.272727.......... =127 11.(C) 1‘3=1+§ =l+-=—
W2 W2
27 126 14
1+—=—=— a
99 99 11 4
9 1 3 _ 64-27 37
. 0.0009= — = S =51
3. © 9999 ~ 1111 (i] L, 6427 ol
3
P 5 54 382-35_ 2117 o
. 2.352 = =
900 900 _ 142-1
12.(D) 2.142 =2+
_ 9 990
09=—=1=0.9999 .......
5. (A 5 = 1=09999 la1
__ g 990
0.09=—=—=0.0999 ......
90 _1980+141
009=— =1 = 0.000000 N
S99 11 TR _ 2121 707
6. (B 6+7+0.74+0.32 990 330
o p+q=707+330
74 32 = 1037
“ 18739799
13. (A _ = ab—a+ba—b_§
15 106 (&) gab+0ba = 55 * 95 " 9
99 10a+b-a 10b+a-b_5
. B =2
=134-1+-§§:$14D7 4 90 9
9a+b+a+9b_5
_ 7 25 = =3
7. B) 27=2+5= 90 °0 9
10a+10b 5
= 3_12 790 9
1.3= 1+5=
9 9 —Sa+bh=5
= 13 25 1 18_ 4 ;
27-13= —-—==—7=1+25=14 xy
9 9 oy X oL
¥, = 9_ 9_ 14.9 56711
8. (€) 03+06+0.7+08 N
=£+9+Z+§ Xy=63
9 9 9 9 N
_%_ﬁ X=6,y=3
B 9 _3 X2+y2_ 2+32=45
2 xyz—xX 919-5 13
- . + -
=23 15.0) 900 *To00 15

Xyz—x+514 13
990 15
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Mother's * Number System (Part-4)

100x+10y+2z—-x+514 13

990
99x + 10y + z = 344

Only x = 3 possible which 10v + z form two

digit no.

LX=3

10y +z=47
v=4,z= 7,x=3

2x+3y-52=6+3x4-5=x7= =27

_ _ 39-3 7
16.(B) 0.30x07= 90 <9
_3% 7_28
T 90 9 90

= 0.31

= 0.56-0.723+0.31

T 15

X X
0.5
0.3 1 1 111
0.7 2 3 2 3 2
0.1 5 4 54 5
= 0.154
_  _ 39-3 8 36
17.(C) 0.39x08= 557 %5 55~
32 _
50 = 0.35
= 0.47 +0.503 - 0.35
X X X X X X
+4 7 7 77 7
+5 0 3 03 0
-3 5 5 555
06 2 5 2 5 2
= 0.625
_ 369 41
18.(A) N= 0369 = 999~ 111

_ 531 59
05317 999 7111

1 1 111 111 11100

N M 41 59 2419
19.(C) 057 - 0.432 + 0.35
57 432-4 35-3

M:

99 ~ 990 90
_ 570-408+352 494
- 990 " 990 _ 0.498
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